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1
’ DGS W Wl()\
’I‘W ’I‘W.l() o
“ ” ( )O
2
GB/T 3979—1997
GB/T 5698—1985
GB/T 9340—1988
3
3.1 whiteness
b W Wl() o ’ )
100,
3.2 tint
s ’IVW ’IVW.IO o ’
0,
. GB/T 5698 o
4
4.1
GB/T 3979—1997 6.2 6.3 X.
Y\Z Xl()\YlO\ZlOo
( ) GB/T 3979—1997 7.2 ,
X\Y\Z XIO\YIO\ZlOo
4.2
( ) GB/T 9340 .
1999-05-14 1999-12-01
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5.1

W Wi
5.2

W Wy

|

’1‘W ’IVW. 10 o

,» 4.2

Tw  Tw.oo.

X\Y\Z XIO\Y]O\ZIO?

X\Y\Z Xl()\Yl()\Zl()9 6

W Wy @) 2 :
W =Y + 800(x, —x) + 1 700(y, — ¥) sreereeeeeee (1)
Wi =Y, + 800(x,. 10 — x19) + 1 700(y,.10 — Y1) seeseeeeeeen (2)
: W— XYZ 3
Y— XYZ ;
oy — XYZ Ty
Tun Y XYZ Zovye O 1)
Wio—— X10Y 10216
Y o— X10Y 10210 Yio ;
TioaVio—— X10Y 10210 Z1o-V1o 3
L 10~ Y10 X10Y 10210 Zuios Yo C IR
6.2
Tw Tw.ao (€D D :
Tw =1 000(x, —x) — 650y, — ) sreereeeeeen(3)
Twio = 900210 — 210) — 650( 10 — yg) sorveesesressesreessssnesnanne( 4 )
Ty XYZ ;
T y—— XYZ x\y
Lus Y™ XYZ o3y O D
Twio— X10Y 10210 ;
TiosVio— X10Y 10210 ZioaVio 3
L, 105 Y10 X10Y10Z 10 R TING U T ¢ D
1 Dgs
5 nm 10 nm
X, 95. 04 95.02
Y, 100. 00 100. 00
XYZ Z, 108. 88 108. 81
X 0.3127 0.312 7
Vu 0.329 0 0.329 0
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1¢ D
5 nm 10 nm
X 10 94. 81 94. 83
Y..10 100. 00 100. 00
XY 10Z1o Zu10 107. 32 107. 38
Tn,10 0313 8 0.313 8
Vuo10 0.3310 0.330 9
6-3
CIE s s
466 nm o o (O~ W Wy,
Tw ’I‘W.lo :
40 << W < (5Y — 280) 40 < W, < (5Y,, — 280)
—3.0<<Ty <<+ 3.0 —3.0<Ty, <+ 3.0
/
71
6 w Ty, Wl() TW.l() o
7.2
0.8 520
540
\560
0.6
500
y , 380
)
0.4 U
,_,,///D 600
//I}/./’/ * 620
% 650]
0.2 770nm!
480
470
o 450 389
0 0.2 0.4 0.6 0.8
1 466 nm
460 nm 470 nm
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A1l
W, = R,., = K,SR(ADF (DA v (AL
: Wi Rys—— o 457 nm=+2 nm, 44 nm
K, K= g
SFEF(ADAA
R —— H
FQO)—— C Al);
AA— o
Al \
FD
A,nm F A.nm FQ)
395 0.0 460 100.0
400 1.0 465 99.3
405 2.9 470 88.7
410 6.7 175 72.5
415 12.1 480 53.1
420 18.2 485 34.0
425 25.8 490 20. 3
430 34.5 495 11.1
435 44.9 500 5.6
440 57.6 505 2.2
445 70.0 510 0.3
450 82.5 515 0.0
455 94.1
A? (Hunter)
Wy =100 — [(100 — L)? + a* + 6*]2 cerernee (A2
Wy =L — 3b cevieeeneen ( A3)
: WHv
117
a.b o
(D 2° , c .
L =10Y?
o 17:201.02X — V)
Yz
p 100 = 0.8477)
Yz
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c XY Z— XYz .
(2) 100 . D(;5 .
1
L =10YZ
, 17.200. 055X, — Y
- 1
le()
6. 7(Y10 — 0. 932210)
b= T
le()
: XIO\YIO\ZIOA XIOYIOZIO °
A3 Z
2° s C. W, = 0.8477Z R T IR TTR TR TP PPN QA W/
10° y Dss:Wz.m = 0. 932210 D R ITETTR TR TP P PN QAN
s W Woho—Z2 5
Z\ZIOA 4 °
Al (Ganz)
W =DY + Px + Qy + C ceecsseinaieiieeiiieeeeens ( AG )
Y— Y
TNy TNy H
D.P.Q.C——
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